Math 1 Name l_Q ey
6-4 — 6-5 Triangle and Parallel Lines Proofs Date

In problems 1 — 5, use the properties of triangles you studied to answer the given questions.

1. Solve for x. 2. Find the mZBTU 1 7]4°
T B
8x + 2 14x +3
8x~2 3x+9
Y3y % +Ex-2 +2x39 =180 U
15w A= 1€0 Fxr2 4 Ie= ) Ynt3
=) LS5 2
T St Bx2572 1y,

Y s 15 S‘L’=éx
mcKTU = 5(7)}1:

3. Solve for x. 4. Solve for x.
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5. Could yoy drav a triangle with side lengths of 22, 28, 50? Explain how you know.
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6. Could you d raw a triangle with side lengths of 20, 28, 15?7 Explain how you know.
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7. Find the range of possible measures for the third side of a triangle with side lengths of 15 and 8.
Show your work and circle your final answer.
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8. Given: Line m is parallel to line » with transversal ¢. —> 4/ 3 s,
Prove: mZ3 =m/5
(Don’t use Alternate Interior Angles Theorem) 5 /6
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9. Given: Line m is parallel to line n with transversal ¢.
Prove: mZ3+m«£8=180° : /2
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10. Given: Line m is parallel to line n with transversal ¢.
1 /2

Prove: mZ1+m«8=180°
(Don’t use Same-Side Exterior Angles Theorem) —> . M
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10. Given: Line m is parallel to line n with transversal ¢.
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Prove: mA =m/7
(Don’t use Alternate Exterior Angles Theorem) > . m
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